MATH 152 EXAM IA NAME NAS A
Mrs. Bonny Tighe 7.1-8.3

100 points SECTION Wed 3/1/06

There are 11 problems with 10 points each

1. Finddy/dx: 3-Inxy=2¢" "H» “"XAJA?( :.D«Yz‘je :‘)'b/é(,k‘f
) : 2o o
Dk ~ By = e il
—~-_\; _,L ‘ e (\Lb/y-r\)( )) J}L(QX 363P?&) =
2 e
5 = t‘g/d,/\ nge U e ,3) | ol i
\‘\’ b/cvt’k = _._‘.3 '—g__‘x(‘j Zij ;
2. Evaluate: a) f:/—_;cbc = 3 )chj (‘_’}31—};
£ y =V % T R
;L e GL‘-'\. A-M e ZE’_}C J'\

a'leﬂlrf' ch e L‘\«: R

3+x _é’__ _,_l‘g ’..2_’}_-— A
b)j S\%XL e (\1_# 0
% e o ldle
\*(*Y =




Sin XCOs X

Sy W) = l;'o’“b‘jﬂ B %ng) «%Mwbk)

S e T C L (e
(2 7, }\‘\ ) XL.S&_{wSx) —— e
= _g_)_}j-— T st o lD
3 o-laci=)

b) fx)= @-In+x)*(2"=5%)

£ = (3 25) (3 4 -6705) - OF s —-)L«mfi)( )

tan™ x
i z
% at the point (1, A) .

4. Find the equation of the tangent line to the curve y =

= dx-X) W A
M.k wszé*k%('\—%*) -Gy (o

—



5. Integrate using trigonometric substitution J‘»—dx'9+x2 Bl o = x
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6. Find the numerical value of each expression.
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7. Evaluate using integration by parts:
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8. Find the following limits. Use L’Hospital’s Rule where appropriate. 3
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9. Use logarithmic differentiation to find the derivative for f(x)= [x J
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10. Evaluate the integral. r/ cos’ xsin* x dx
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